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*ﬂk yA Algebra3

Section 7.3 Modulus Igl =3

PROJECTATES 6 @ -4 | =Y

Text & Tests

1. Modular equations |

-(Example 1 }

Sketch the graph of f(x) = [3x + 3| and hence solve the equation [3x + 5| =2
(i) geometrically and (ii) algebraically. [2\=2 e |-2|=2
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Exercise 7.3

1. Solve each of the following inequalities for x € R.

@ +3=1 i) [x—2] =4 Gii) v—1]=5
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3

12

................... R p p——
X | f)
’5 2_ - ; 7 —> X
=5 |4 S 2o
—23 | o
-2 |1 Solve. Maebracdl, :
- 2 [ e 2 o
o |2 IfIx+2]=1 [x+3[=1
] xt+bx+9 =|
either  X43 = | X*+bx+% =o
X=-2 (X 42 )x +4)=0
of X433 = —| X=-2  x==4
X=-%

1. Solve each of the following inequalities for x € R.

(iv) 3x =2l =x (v) 2k =3[ =2 (vi) lx =5 =[x+ 1]

Solve. (V) 2| x-3]=2

[x-3]=

mehlod | = eiler X-2 = |
Counsioler X =4
| positive |

net, {w.rﬁuc’ o X-3% = -\

X =2
mellod 2 111,
lx-:\l = |

S?Mﬂ- botl. Sides =

X=éx +9=1
X*-bx+8 =0
(X —2)(Xx—- ¢)=0o
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6. Solve each of the following inequalities for x € R.
(i) [x—6l<2 (i) [x+2[<4 (iii) [2x—1[=5

() lF |Y—L(2421
X*—12x +3b <Yy
Xt—12x +32 =0
‘f- X¥ -\2x +32=0
m g (X ——?)Q( —4) =0
X=%  x=%
mside.
4 = Xx < 8
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